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Elektromos	
  járművek	
  

EV3	
  programleírás	
  
Az	
  5-­‐ös	
  program	
  a	
  giroszkópos	
  érzékelővel	
  megtett	
  fordulatokat	
  számolja,	
  és	
  ezt	
  a	
  számot	
  
megjeleníti	
  a	
  Brick	
  (irányítópult)	
  kijelzőjén.	
  	
  

Használt	
  rövidítések	
  
ROT	
   Ciklus	
  neve/fordulat	
  mérőszám	
  
10R	
   Tíz	
  befejezett	
  fordulatot	
  jelző	
  változó.	
  Húsz	
  fordulatnál	
  10R	
  =	
  2	
  
	
  

A	
  program	
  működésének	
  összegzése	
  
	
  

	
  
	
  
	
  

A	
  program	
  indítása	
  
Az	
  energiamérőn	
  lévő	
  narancssárga	
  iránykapcsolót	
  fordítsd	
  el	
  balra.	
  Ekkor	
  a	
  modellen	
  lévő	
  
napelemes	
  motor	
  elkezd	
  forogni.	
  	
  

Kilépés	
  a	
  programból	
  
A	
  program	
  addig	
  fut,	
  ameddig	
  az	
  elem	
  le	
  nem	
  merül.	
  A	
  programból	
  az	
  EV3	
  Bricken	
  lévő	
  Cancel	
  
(Törlés)	
  gombbal	
  lehet	
  kilépni.	
  	
  	
  

A	
  program	
  részei	
  

„A”	
  programrész	
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A	
  10R	
  változó	
  elindítása	
  0-­‐tól,	
  és	
  a	
  girszkóp	
  kalibrációja.	
  	
  
	
  	
  

„B”	
  programrész	
  
	
  

	
  
	
  
A	
  ROT	
  ciklus	
  számolja	
  a	
  fordulatokat.	
  Ezt	
  az	
  értéket	
  úgy	
  kapjuk	
  meg,	
  ha	
  a	
  giroszkóp	
  által	
  mért	
  
szöget	
  elosztjuk	
  -­‐360-­‐nal.	
  A	
  kapott	
  eredmény	
  a	
  befejezett	
  fordulatok	
  száma.	
  A	
  következő	
  
lépésben	
  a	
  10R	
  változót	
  megszorozzuk	
  tízzel,	
  és	
  a	
  korábban	
  mért	
  fordulatszámot	
  hozzáadjuk	
  az	
  
eredményhez.	
  A	
  kapott	
  érték	
  megjelenik	
  a	
  Brick	
  kijelzőjén,	
  így	
  kiderül,	
  hogy	
  az	
  elején	
  
meghatározott	
  fordulatszám	
  kisebb-­‐e	
  tíznél.	
  Ezután	
  a	
  „C”	
  programrész	
  fut	
  le,	
  majd	
  a	
  program	
  
0,1	
  másodpercet	
  vár,	
  hogy	
  a	
  giroszkópnak	
  legyen	
  ideje	
  alapállapotba	
  visszaállni.	
  	
  
	
  

„C”	
  programrész	
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A	
  „C”	
  részben	
  végrehajtott	
  művelet	
  attól	
  függ,	
  hogy	
  a	
  kapott	
  fordulatszám	
  nagyobb	
  vagy	
  
kisebb-­‐e	
  tíznél.	
  Amennyiben	
  a	
  fordulatszám	
  kisebb	
  tíznél,	
  úgy	
  semmi	
  nem	
  történik.	
  Ha	
  a	
  
fordulatszám	
  nagyobb	
  tíznél,	
  akkor	
  állítsd	
  alaphelyzetbe	
  a	
  giroszkópot,	
  és	
  a	
  10R	
  változót	
  növeld	
  
meg	
  1-­‐gyel!	
  	
  


